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B.Com. DEGREE EXAMINATION, APRIL 2020 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all the questions. 

1. Define Partnership. 

 Tmhõsø© Áøμ¯Ö. 

2. What is capital ratio? 

 •uÀ ÂQu® GßÓõÀ GßÚ? 

3. What do you meant by sacrificing ratio? 

 v¯õP ÂQu® Gß£øu £ØÔ }Âº AÔÁÚ ¯õx? 

4. What is meant by admission of a partner? 

 TmhõÎ ÷\º¨¦ £ØÔ }Âº AÔÁÚ ¯õx? 

5. What is new ratio? 

 ¦v¯ ÂQu® GßÓõÀ GßÚ? 

6. Who is an incoming partner? 

 EÒÁ¸® TmhõÎ Gß£Áº ¯õº? 
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7. How can a partner retire from the firm? 

 {ÖÁÚzvÀ C¸¢x TmhõÎ GÆÁõÖ K´Ä ö£ÖQÓõº? 

8. What is new profit ratio on retirement of a partner? 

 TmhõÎ°ß K´Âß ÷£õx ¦v¯ C»õ£ ÂQu® GßÓõÀ 

GßÚ? 

9. Define dissolution of a firm. 

 {ÖÁÚ Pø»¨¦ £ØÔ Áøμ¯Ö. 

10. Who is called as an insolvent? 

 ö|õi¨¦ {ø» Aøh¢uÁº Gß£Áº ¯õº? 

 Section B  (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the features of a partnership? 

  Tmhõsø©°ß ]Ó¨¤¯À¦PÒ ¯õx? 

Or 

 (b) Sundar and Shanmugam are two partners sharing 
profits and losses equally. Sundar drew regularly 
Rs.2,000 at the end of every month during the year. 
Shanmugam draws Rs.4,000 regularly at the 
beginning of every month during the year. Calculate 
interest on their drawings at 10% p.a. 

  _¢uº ©ØÖ® \s•P® BQ¯ C¸ TmhõÎPÒ C»õ£ 

|mhzøu \›¯õP ¤›zxU öPõÒQßÓÚº. _¢uº 

CÆÁõsiÀ JÆöÁõ¸ ©õu CÖv°¾® ¹.2,000 zøu 

ÁÇUP©õP Gkzx öPõshõº. \s•P® CÆÁõsiÀ 

JÆöÁõ¸ ©õu öuõhUPzv¾® ¹.2,000 zøu ÁÇUP©õP 

Gkzx öPõshõº. CÁºPÎß Gk¨¦ «uõÚ Ámiø¯ 

BsiØS 10 \uÃuØS PnUQkP. 
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12. (a) What are the methods of valuation of goodwill? 

  |Øö£¯º ©v¨¥k® ÁøPPÒ ¯õøÁ? 

Or 

 (b) The profit during the last three years is as follows:  

 Rs. 

I year 12,600 

II year 14,000 

III year 15,400 

  The Capital employed of the firm is Rs.42,000. A 
fair return on the capital is 10%. Compute the 
goodwill value on 3 years purchase under super 
profits. 

  ¤ßÁ¸® ‰ßÖ BskPÐUPõÚ C»õ£ ÂÁμ[PÒ. 

 ¹. 

•uÀ Bsk 12,600 

Cμshõ® Bsk 14,000 

‰ßÓõ® Bsk 15,400 

  A¢{ÖÁÚzvß £¯ß£kzu¨£mh •uÀ ¹.42,000. 

{¯õ¯©õÚ •uÀ «uõÚ \õuõμn ÁμÄ 10 \uÃu®. 

÷©ØöPõsh ÂÁμ[PøÍ öPõsk ‰ßÖ Bsk 

öPõÒ•uÀ E¯º C»õ£ •øÓ°À |Øö£¯øμ 

PnUQkP. 

13. (a) Distinguish of difference between sacrificing ratio 
and Gain ratio. 

  v¯õP ÂQuzvØS® ©ØÖ® Buõ¯ ÂQuzvØPõÚ 

Âzv¯õ\[PÒ ¯õøÁ? 

Or 
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 (b) C, D and E were partners of a firm sharing profits 

and losses in the ratio of 7:6:5. D wishes to retires 
and they decided to revalue the assets and liabilities 
as given below: 

  (i) To bring into books an unrecorded investment 
of Rs.6,000 

  (ii) To write off Rs. 2,000 from creditors as it was 
no longer a liability. 

  (iii) To write down machinery by Rs. 12,000 and 
stock by Rs.6,800 Prepare Revaluation 
Account. 

  C, D ©ØÖ® E TmhõÎPÒ 7: 6: 5 GßÓ C»õ£ 

ÂQuzvÀ C»õ£zøu ¤›zx Á¢uÚº. D 

Tmhõsø©°¼¸¢x Â»SÁõuÀ, ö\õzxUPÒ ©ØÖ® 

ö£õÖ¨¦PøÍ ©Ö©v¨¥k ö\´¯ •iÄ ö\´uÚº. 

  (i) ¹.6,000 zvØPõÚ £vÄö£Óõ •u½kPøÍ 

PnUQÀ öPõsk Á¸uÀ 

  (ii) PhÜ¢÷uõº «uõÚ ¹.2,000 zvØS ÷£õUSöPõÊv 

Aøu  }sh Põ» ö£õÖ¨£õPõx 

  (iii) ¹.12,000 zvØS C¯¢vμ ©v¨ø£²® ©ØÖ® 

\μUQ¸¨¤À ¹.6,800 ²® ©v¨¤ÓUP® ö\´uÀ. 

   ÷©ØöPõsh ÂÁμ[PøÍ öPõsk ©Ö©v¨¥mk 

PnUøP u¯õ›UP. 

14. (a) Differentiate dissolution of firm and dissolution of 
partnership. 

  {ÖÁÚ Pø»¨¤ØS® Tmhõsø© Pø»¨¤Ø©õÚ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) P,Q,R share profits in the proportion of 1/2, 1/4 and 

1/4. On the date of dissolution, their balance sheet 
is as follows. 

Liabilities Rs. Assets Rs. 
Creditors 14,000 Sundry assets 40,000 
Capital    
P 10,000   
Q 10,000   
R 6,000   

 40,000  40,000 

  The assets realized Rs.35,500. Creditors were paid 
in full, Realization expenses amounted to Rs.1,500. 
Close the books of the firm. 

  P, Q ©ØÖ® R TmhõÎUPõÚ  C»õ£ ÂQu® 1/2/ ,1/4 

©ØÖ® 1/4 BS®. Pø»¨¦ |õÐUPõÚ C¸¨¦ {ø» 

SÔ¨¦ ¤ßÁ¸©õÖ. 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº  14,000 £Ø£» ö\õzxUPÒ 40,000 
•uÀ    
P 10,000   
Q 10,000   
R 6,000   
 40,000  40,000 

  ö\õzxUPÒ ¹.35,000 zvØS ©v¨¥h ö\´¯¨£mhx. 

PhÜ¢÷uõºUPõÚ öuõøP •ÊÁx® ö\¾zu¨£mhx. 

©Ö©v¨¥miØPõÚ ö\»Ä ¹.1,500 BS® GÚ öPõsk 

{ÖÁÚ PnU÷PkPøÍ {øÓÄ ö\´P. 

15. (a) Explain the Concepts of proportionate capital 
method. 

  ÂQua\õμ ‰»uõÚ •øÓ°ß P¸zxPøÍ  ÂÁ›. 

Or 
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 (b) X, Y and Z are partners in a firm, Who are sharing 

profits and losses in the proportions of 3:2:1 
respectively. The following is the balance sheet as 
on 31.12.2010. On that date they decided to dissolve 
the partnership. 

Liabilities Rs. Assets Rs. 

Sundry Creditors 10,000 Cash 1,20,000 

X 45,000 Sundry assets 10,000 

Y 45,000   

Z 30,000   

 1,30,000  1,30,000 

  The firm is dissolved and the realizations of assets 
were as follows; 

  Realization Amount Realized 

  I   15,000 

  Prepare a statement showing how the distribution 
of cash has been made under maximum loss 
method. 

  X,Y ©ØÖ® Z BQ÷¯õºPÎß Tmhõsø©°À •øÓ÷¯ 

3:2:1 GßÓ C»õ£ ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x 

Á¢uÚõº. 31.12.2010 À Tmhõsø© Pø»¨¦ 

|õÐUPõÚ C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 10,000 öμõUP® 1,20,000 

X 45,000 £Ø£» ö\õzxUPÒ 10,000 

Y 45,000   

Z 30,000   

 1,30,000  1,30,000 
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  A¢{ÖÁÚ® ¤ßÁ¸©õÖ uÚx ö\õzxUPøÍ 

©Ö©v¨¥kQÓx. 

  ©Ö©v¨¥k ©Ö©v¨¥mk öuõøP 

  I  15,000 

  AvP£m\ C»õ£ •øÓ°À öμõUP £QºÄUPõÚ 

AÔUøPø¯ u¯õ›. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Show how the following items will appear in the Capital 

Accounts of the partners, Ramu and Somu, when their 

capitals are  

 (a)  Fluctuating and 

 (b)  Fixed. 

 Ramu Somu 

 Rs. Rs. 

Capital on 1.4.2004 90,000 60,000 

Drawings during 2004-05 18,000 15,000 

Interest on Drawings 500 300 

Share of Profit for 2004-05 12,000 8,000 

Interest on Capital 5,400 3,600 

Partner’s Salary 6,000 – 
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 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk TmhõÎ°ß •uÀ PnUQÀ 

Cμõ•, ©ØÖ© ÷\õ• •u¼¸¢x  

 (A) ©õÖ£k® •øÓ ©ØÖ® 

 (B) {ø» •øÓ PnUQkP. 

 Cμõ• ÷\õ• 

 ¹. ¹. 

1.4.2004 À £i •uÀ 90,000 60,000 

2004-05–Gk¨¦PÒ 18,000 15,000 

Gk¨¦PÒ «x Ámi 500 300 

2004-05–ß C»õ£ £[S 12,000 8,000 

•uÀ «x Ámi 5,400 3,600 

TmhõÎ°ß Fv¯® 6,000 – 

17. Lakshmi and Saraswathi are partners of a firm sharing 
profits and losses in proportion to capital. Their Balance 
Sheet as on 31st March 2005 is as under. 
Liabilities  Rs. Assets Rs. 

Sundry creditors  60,000 Bank 12,000 

Bills Payable  40,000 Sundry debtors 40,000 

Capital accounts   Stock 40,000 

Lakshmi 60,000  Plant 90,000 

Saraswathi 40,000 1,00,000 Furniture 18,000 

  2,00,000  2,00,000 

 They decided to admit Sulochana into the partnership 
with effect from 1st April, 2005 on the following terms. 

 (a) Sulochana shall bring in a capital of Rs.50,000 for 
1/5th share of profits. 

 (b) Goodwill is to be valued at Rs.40,000. 

 (c) Plant and furniture was to be depreciated by 5%. 
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 (d) Provision for doubtful debts be created at %1 2
1  on 

sundry debtors. 

  Show revaluation account, capital accounts, bank 
account and balance sheet of the reconstituted 
partnership. 

 ö»m_ª ©ØÖ® \μìÁv TmhõÎPÎß  •øÓ÷¯ •uÀ 

Ai¨£øh°À C»õ£ ©ØÖ® |mhzøu £Qº¢x 

öPõÒQßÓÚº. AÁºPÐøh¯ C¸¨¦ {ø» SÔ¨¦ 31 ©õºa 

2005 ß £i RÌPshÁõÖ 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ  60,000 Á[Q 12,000 
ö\¾zxÁuØS›¯   40,000 £Ø£»   
©õØÖa^mk   PhÚõÎPÒ 40,000 
•uÀ PnUS   \μUQ¸¨¦ 40,000 
ö»m_ª 60,000  {»® 90,000 
\μìÁv 40,000 1,00,000 AøÓP»ß 18,000 

  2,00,000  2,00,000 

  1 H¨μÀ 2005 À TmhõÎPÎß J¨¦u¼ß ‰»® 

_»a\nõ Gß£Áº TmhõÎ¯õP ÷\ºzxU öPõÒÍ 

\®£¢uzvß ö£¯›À ¤ßÁ¸® |hÁiUøPPÒ 

÷©ØöPõÒÍ¨£kQÓx 

 (A) _»a\nõ •u»õP ¹.50,000 zvøÚ 1/5 C»õ£ 

ÂQuzvØPõP Ch ÷Ásk® 

 (B) ¹.40,000 zvøÚ |Øö£¯º ©v¨¤h£kQÓx 

 (C) {»® ©ØÖ® AøÓP»ÝUS 5 \uÃu® ÷u´©õÚ® 

PnUQh¨£mhx 

 (D) £Ø£» PhÚõÎPÎÀ %1 2
1  \uÃu® Áμõ I¯U Phß 

JxUS ö\´¯¨£mhx. 

  ©Ö©v¨¥k PnUS, •uÀ PnUSPÒ, Á[Q PnUS 

©ØÖ® C¸¨¦ {ø»U SÔ¨ø£ ¦v¯ TmhõÎ 

÷\ºUøP²hß u¯õ›UP.  
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18. Malligai and Mullai were partners of a firm sharing 

profits and losses in the ratio of 7:5. Set out below was 
their balance sheet as on 31st December, 2016. 
Liabilities  Rs. Assets Rs. 

Sundry creditors  40,000 Bank 52,000 

General reserve  72,000 Sundry debtors 40,000 

Workman’s    Stock 72,000 

Compensation fund  60,000 Machinery 1,60,000 

Capital Account   Profit and   

Malligai 1,20,000  loss A/c 48,000 

Mullai 80,000 2,00,000   

  3,72,000  3,72,000 

 Mullai retired from the partnership from 1st January 
2017 and that Malligai will take over the business on the 
following terms: 

 (a) Goodwill of the firm was to be valued at Rs.24,000. 

 (b) Machinery was depreciated at 10%. 

 (c) A provision for doubtful debts at created at 5% on 
sundry debtors. 

 (d) The liability on workmen’s compensation fund is 
determined at Rs.36,000.  

  Show revaluation account, capital accounts and the 
balance sheet of Malligai after the adjustments 
have been made. 

 ©À¼øP ©ØÖ® •Àø» BQ¯ TmhõÎPÎß C»õ£ |mh 

ÂQu©õÚx 7:5 A¢{ÖÁÚzvß 31 i\®£º 2016 B® 

|õøÍ¯ C¸¨¦ {ø»USÔ¨¦. 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ  40,000 Á[Q 52,000 

ö£õx Põ¨¦  72,000 £Ø£» PhÚõÎPÒ 40,000 

öuõÈ»õÍºPõÚ    \μUS 72,000 

DmkÖv {v  60,000 C¯¢vμ® 1,60,000 
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ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. 

•uÀ PnUS   C»õ£ |mh   

©À¼øP 1,20,000  PnUS 48,000 

•Àø» 80,000 2,00,000   

  3,72,000  3,72,000 

 1 áÚÁ› 2017 B® |õÎÀ •Àø» K´Ä ö£ÖQÓõº ©ØÖ® 

©À¼øP A¢{ÖÁÚzøu öuõhº¢x |hzu ¤ßÁ¸® 

HØ£õkPÒ ö\´¯¨£mhÚ. 

 (A) {ÖÁÚ |Øö£¯º ¹.24,000 ©õP ©v¨¤h ÷Ásk® 

 (B) C¯¢vμzvß «x 10 \uÃu® ÷u´©õÚ® PnUQk 

÷Ásk®  

 (C) £Ø£» PhÚõÎ «x 5 \uÃu® ÁμõI¯U Phß JxUS 

E¸ÁõUP ÷Ásk® 

 (D) öuõÈ»õÍº DmkÖv {v ¹.36,000 zvØS ö£õÖ¨¦ 

E¸ÁõUP ÷Ásk®. 

  ÷©ØöPõsh ÂÁμ[PøÍ öPõsk ©Ö©v¨¥mk 

PnUS, •uÀ PnUSPÒ ©ØÖ® ©À¼øP°ß C¸¨¦ 

{ø» SÔ¨ø£ \›Pmku¾US ¤ß u¯õ›UP. 

19. State the order in which payments are made on 
dissolution of a firm in insolvency of a partner. 

 TmhõÎ ö|õi¨¦ {ø» Aøh²® ÷£õx {ÖÁÚ Pø»¨¤ß 

£n® v¸®£ ö\¾zxÁuØPõÚ Á›ø\ •øÓø¯  ÂÁ›. 

20. X,Y and Z are equal partners in a firm, their balance 
sheet was as follows. 

Liabilities Rs. Assets Rs. 

Sundry Creditors 46,200 Cash 700 

Profit and loss Account 31,500 Debtors 73,500 
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Liabilities Rs. Assets Rs. 

Capitals  Stock 87,500 

X 73,500 Machinery 52,500 

Y 45,500   

Z 17,500   

 2,14,200  2,14,200 

 Z become bankrupt and his private estate could pay only 
Rs.350. The firm was dissolved. Assets realized 
Rs.1,08,500. Expenses on realization came to Rs.2,100. 
Prepare ledger accounts to close the books of the firm. 
Apply Garner Vs Murray rules. 

 X,Y ©ØÖ® Z BQ¯ \©©õÚ Tmhõsø© {ÖÁÚzvß 

C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ 46,200 öμõUP® 700 

C»õ£ |mh PnUS 31,500 PhÚõÎPÒ 73,500 

•uÀPÒ  \μUS 87,500 

X 73,500 C¯¢vμ® 52,500 

Y 45,500   

Z 17,500   

 2,14,200  2,14,200 

 Z  vÁ»õÚ {ø»°À AÁºPÐøh¯ ö\õ¢u ö\¾zuUP 

C¸¨¦ ¹.350. {ÖÁÚ Pø»¨¦USÒÍõQÓx. ö\õzxUPÒ 

¹.1,08,500 US ©Ö©v¨¥k ö\´¯¨£mhx. {ÖÁÚ 

Pø»¨¦UPõP ¹.2,100 ø¯ ö\»Âh¨£mhx. Pºnº Gvº •÷μ 

Âv•øÓø¯ £¯ß£kzv {ÖÁÚ PnUSPøÍ •iÄUS 

öPõsk Á¸P. 

—————— 


	com-2.pdf
	7BCO 3C4.pdf


